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QUESTION 1

A data scientist wants to improve the fit of a machine learning (ML) model that predicts house prices. The data scientist
makes a first attempt to fit the model, but the fitted model has poor accuracy on both the training dataset and the test
dataset.

Which steps must the data scientist take to improve model accuracy? (Choose three.)

A. Increase the amount of regularization that the model uses.

B. Decrease the amount of regularization that the model uses.

C. Increase the number of training examples that that model uses.

D. Increase the number of test examples that the model uses.

E. Increase the number of model features that the model uses.

F. Decrease the number of model features that the model uses.

Correct Answer: BDF

QUESTION 2

A manufacturing company wants to monitor its devices for anomalous behavior. A data scientist has trained an Amazon
SageMaker scikit-learn model that classifies a device as normal or anomalous based on its 4-day telemetry. The 4-day
telemetry of each device is collected in a separate file and is placed in an Amazon S3 bucket once every hour. The total
time to run the model across the telemetry for all devices is 5 minutes.

What is the MOST cost-effective solution for the company to use to run the model across the telemetry for all the
devices?

A. SageMaker Batch Transform

B. SageMaker Asynchronous Inference

C. SageMaker Processing

D. A SageMaker multi-container endpoint

Correct Answer: A

https://docs.aws.amazon.com/sagemaker/latest/dg/inference-cost-optimization.html

"Use batch inference for workloads for which you need inference for a large set of data for processes that happen offline
(that is, you don\\'t need a persistent endpoint). You pay for the instance for the duration of the batch inference job". As
you pay for the batch job duration, cost should not be an issue with Batch transform. "Use asynchronous inference for
asynchronous workloads that process up to 1 GB of data (such as text corpus, image, video, and audio) that are latency

insensitive and cost sensitive. With asynchronous inference, you can control costs by

specifying a fixed number of instances for the optimal processing rate instead of provisioning for the peak. You can also
scale down to zero to save additional costs."
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QUESTION 3

A data scientist is using an Amazon SageMaker notebook instance and needs to securely access data stored in a
specific Amazon S3 bucket.

How should the data scientist accomplish this?

A. Add an S3 bucket policy allowing GetObject, PutObject, and ListBucket permissions to the Amazon SageMaker
notebook ARN as principal.

B. Encrypt the objects in the S3 bucket with a custom AWS Key Management Service (AWS KMS) key that only the
notebook owner has access to.

C. Attach the policy to the IAM role associated with the notebook that allows GetObject, PutObject, and ListBucket
operations to the specific S3 bucket.

D. Use a script in a lifecycle configuration to configure the AWS CLI on the instance with an access key ID and secret.

Correct Answer: C

QUESTION 4

A Machine Learning Specialist deployed a model that provides product recommendations on a company\\'s website
Initially, the model was performing very well and resulted in customers buying more products on average However
within the past few months the Specialist has noticed that the effect of product recommendations has diminished and
customers are starting to return to their original habits of spending less The Specialist is unsure of what happened, as
the model has not changed from its initial deployment over a year ago Which method should the Specialist try to
improve model performance?

A. The model needs to be completely re-engineered because it is unable to handle product inventory changes

B. The model\\'s hyperparameters should be periodically updated to prevent drift

C. The model should be periodically retrained from scratch using the original data while adding a regularization term to
handle product inventory changes

D. The model should be periodically retrained using the original training data plus new data as product inventory
changes

Correct Answer: D

QUESTION 5

A financial services company wants to adopt Amazon SageMaker as its default data science environment. The
company\\'s data scientists run machine learning (ML) models on confidential financial data. The company is worried
about data egress and wants an ML engineer to secure the environment.

Which mechanisms can the ML engineer use to control data egress from SageMaker? (Choose three.)
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A. Connect to SageMaker by using a VPC interface endpoint powered by AWS PrivateLink.
B. Use SCPs to restrict access to SageMaker.

C. Disable root access on the SageMaker notebook instances.

D. Enable network isolation for training jobs and models.

E. Restrict notebook presigned URLSs to specific IPs used by the company.

F. Protect data with encryption at rest and in transit. Use AWS Key Management Service (AWS KMS) to manage
encryption keys.

Correct Answer: ADE
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